ARCHIE SUPPLY LLC

PRICING/SPECIFICATION PAGE – Athletic Equipment - Spring / WPS Bid #: 8358-J5

<u>Item</u> <u>#</u>	Quantity	<u>Unit</u>	<u>Description</u>	Manufacturer/Model #	<u>Unit Price</u>	<u>Total Price</u>
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Spalding/Thunder Heat Dudley (43147)	\$_109.29	\$_1,639.35
2	30	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro)	\$ <u>116.73</u>	\$_3,501.90
3	10	ea.	Baseball/Softball Scorebooks for High School.		\$ <u>11.84</u>	\$ <u>118.40</u>
4	14	case	Tennis Balls. Optic Yellow.	Wilson/Championship Extra Duty	\$ <u>104.76</u>	\$ <u>1,466.64</u>
5	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.		\$_37.39	\$ <u>186.95</u>
6	5	dz.	Men's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. White Ball.		\$_37.39	\$ <u>186.95</u>
7	48	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000	\$_70.53	\$ 3,385.44
8	4	ea.	4 Way Pitcher's Rubber. Used for High School Sports.		\$ <u>46.23</u>	\$ <u>184.92</u>
9	4	ea.	Major League Home Plate. Includes Anchor. Beveled hard white rubber plate.		\$ <u>171.54</u>	\$_686.16

- Award to be made **PER LINE ITEM**. Bidder should **ONLY** bid items they can supply.
- Bid shall include all associated fees, including those related to shipping.
- All products shall be shipped to Foley Stadium, 305 Chandler Street Worcester, MA 01602 and must be received no later than March 14, 2025.

PRICING/SPECIFICATION PAGE - Athletic Equipment - Spring / WPS Bid #: 8358-J5

Item #	Quantity	Unit	Description	Manufacturer/Model #	<u>Unit Price</u>	<u>Total Price</u>
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Spalding/Thunder Heat Dudley (43147) #BBDNHFSY	\$ <u>112.66</u>	\$ <u>1,689.90</u>
2	30	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro) #CCA1010BPRO	\$ 121.98	\$3,659.40
3	10	ea.	Baseball/Softball Scorebooks for High School.	#MSBASBOK	\$_5.97	\$ 59.70
4	14	case	Tennis Balls. Optic Yellow.	Wilson/Championship Extra Duty #MTWILCAN	\$ 118.32	\$ <u>1,656.48</u>
5	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.	#LXBY	\$ <u>16.43</u>	\$ <u>82.15</u>
6	5	dz.	Men's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. White Ball.	#LXB	\$ <u>16.43</u>	\$82.15
7	48	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000 #1460978_	\$ <u>66.51</u>	\$ <u>3,192.43</u>
8	4	ea.	4 Way Pitcher's Rubber. Used for High School Sports.	#BBPR4WAY	\$ <u>50.</u> 87	\$_203.48
9	4	ea.	Major League Home Plate. Includes Anchor. Beveled hard white rubber plate.	#BBHPHWODBM	\$54.54	\$ <u>218.16</u>

Award to be made <u>PER LINE ITEM</u>. Bidder should ONLY bid items they can supply.

Bid shall include all associated fees, including those related to shipping.

All products shall be shipped to <u>Foley Stadium</u>, 305 Chandler Street Worcester, MA 01602 and must be received no later than <u>March 14</u>, 2025.

Laux Sporting Goods

PRICING/SPECIFICATION PAGE – Athletic Equipment - Spring / WPS Bid #: 8358-J5

<u>Item</u> <u>#</u>	Quantity	<u>Unit</u>	<u>Description</u>	Manufacturer/Model #	<u>Unit Price</u>	<u>Total Price</u>
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Spalding/Thunder Heat Dudley (43147)	\$ 91.35	\$ <u>1,370.25</u>
2	30	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro)	\$ <u>105.74</u>	\$_3,172.20_
3	10	ea.	Baseball/Softball Scorebooks for High School.	PETERSON 7SB	\$ 6.79	\$ 67.90
4	14	case	Tennis Balls. Optic Yellow.	Wilson/Championship Extra Duty	\$ 85.78	\$ 1,200.92
5	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.	CHAMPRO LBNG-DZ	\$ <u>18.35</u>	\$_91.75
6	5	dz.	Men's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. White Ball.	CHAMPRO LBNW-DZ	\$18.35	\$_91.75
7	48	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000	\$ 51.69	\$ <u>2,481.12</u>
8	4	ea.	4 Way Pitcher's Rubber. Used for High School Sports.	MARTIN P4W	\$ 73.93	\$ 295.72
9	4	ea.	Major League Home Plate. Includes Anchor. Beveled hard white rubber plate.	MARTIN HHP14	\$_73.43	\$_293.72

[•] Award to be made **PER LINE ITEM**. Bidder should **ONLY** bid items they can supply.

Bid shall include all associated fees, including those related to shipping.

[•] All products shall be shipped to Foley Stadium, 305 Chandler Street Worcester, MA 01602 and must be received no later than March 14, 2025.

Laux Sporting Goods

PRICING/SPECIFICATION PAGE – Athletic Equipment - Spring / WPS – Per Addendum 1 Bid #: 8358-J5

Item #	Quantity	<u>Unit</u>	Description	Manufacturer/Model #	<u>Unit Price</u>	<u>Total Price</u>
10	20	ea.	Kooga Practice Rugby Balls: standard size 5 practice ball compliant with MIAA rugby		\$	\$
11	2	ea.	Kooga Match Rugby Balls: standard size 5 match ball compliant with MIAA rugby		\$	\$
12	50	ea.	Single Density Mouthguards: no strap, single density boil and bite mouthguards	CHAMPRO AF54	\$0.48	\$_24.00
13	2	ea.	Gilbert Quicker Kicker II Rugby Kicking Tee: standard height regulation kicking tee		\$	\$
14	1	ea.	Kwik Goal Premier Hand Pump: standard ball pump for sports equipment with pressure gauge	KWIK GOAL 1A561	\$ 21.39	\$_21.39
15	10	ea.	Gilbert Falcon 200 Rugby Scrum Caps: size large, color black and green, molded foam scrum caps		\$	\$
16	4	ea.	Gilbert Rugby Tackle Bag: senior Gilbert rugby tackle bag PVC high gloss – Dimensions: 138x45 cm – Weight: 50.7 lbs.		\$	\$
17	4	ea.	Tackle Wedge Tackle Pads: PVC cover, inner foam tackle pads – Dimensions: 33" height, 16" width, 12" depth – Weight: approximately 8.8 lbs.		\$	\$

Laux Sporting Goods

ltem #	Quantity	<u>Unit</u>	Description	Manufacturer/Model #	<u>Unit Price</u>	<u>Total Price</u>
18	4	ea.	Corner Flag Post Pads – Dimensions: 48" x 4" square foam corner flag covers with velcro fastening for try zone flags		\$	\$
19	1	ea.	Corner Flags and Poles (set of 14) – White PVC poles with steel spike for marking fields, holding 8 blue and 6 grey flags		\$	\$
20	4	ea.	Square goal post pads – Blue Square goal post pad – Dimensions:6'H x 12"W x 12"W		\$	\$
21	16	rolls.	Vivomed Vivolight Elastic Adhesive Bandage – Dimensions: 7.5cm x 6.9cm, white, hand tear		\$	\$
22	3	ea.	R80 Aerial Support Lifting Blocks – 2 large (RT22L), 1 Extra Large (RT22XL) set of black neoprene with elastic leg sleeve (leg sleeve for players weights of 231lbs to 264lbs		\$	\$

- Award to be made **PER LINE ITEM**. Bidder should **ONLY** bid items they can supply.
- Bid shall include all associated fees, including those related to shipping.
- All products shall be shipped to <u>Foley Stadium, 305 Chandler Street Worcester, MA 01602</u> and must be received no later than <u>March 14, 2025</u>.

Pioneer Manufacturing Company

PRICING/SPECIFICATION PAGE - Athletic Equipment - Spring / WPS Bid #: 8358-J5

Item #	Quantity	Unit	Description	Manufacturer/Model #	Unit Price	Total Price
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Coolding/Thursday	\$	\$
2	30	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro)	\$	\$
3	10	ea.	Baseball/Softball Scorebooks for High School.		\$	\$
4	14	case	Tennis Balls. Optic Yellow.	Wilson/Championship Extra Duty	\$	\$
5	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.		\$	\$
6	5	dz.	Men's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. White Ball.		\$	\$
7	48	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000	\$	\$
8	4	ea.		Champion Sports Pro Model 4-way pitcher's rubbe	\$_85.00 CH-BH81	\$_340.00
9	4	ea.	Includes Anchor. Beveled	Champion Sports Pro Anchored Homeplate CH-BH	\$90.00 37	\$_360.00

Award to be made <u>PER LINE ITEM</u>. Bidder should ONLY bid items they can supply.

Bid shall include all associated fees, including those related to shipping.

All products shall be shipped to Foley Stadium, 305 Chandler Street Worcester, MA 01602 and must be received no later than March 14, 2025.

PRICING/SPECIFICATION PAGE – Athletic Equipment - Spring / WPS Bid #: 8358-J5

Item #	Quantity	<u>Unit</u>	Description	Manufacturer/Model #	<u>Unit Price</u>	Total Price
1	. 15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Spalding/Thunder Heat Dudley (43147)	\$ 89,50	\$1342.59
2	30	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro)	\$ 108.95	\$3768.5
3	10	ea.	Baseball/Softball Scorebooks for High School	CHAMPION SC1	\$ 3.89	\$38,90
4	14	case	Tennis Balls. Optic Yellow.	Wilson/Championship Extra Duty MIN ORAG 12 CASES	\$ 83.76	\$172.64
5	5	dz.	Women's Lacrosse Balls Must be NOCSAE standard and stamped NFHS approved. Yellow Ball	CHAMPRO # LBNGO	<u>\$ 19.89</u>	\$99.45
6	5	dz.	Meh's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. White Ball.	CHAMPRO # LBNW	\$_19.89_	\$99,45
7	48	ea	Volleyballs - Officiat volleyball of the MIAA.	Mikasa/VFC1000	\$ 50.95	\$2445,6
8	4	ea.	4 Way Pitcher's Rubber Used for High School Sports.	CHAMPION* BH81	\$ 66.95	\$ 257.80
9	4	ea.	Major League Home Plate. Includes Anchor. Beveled hard white rubber plate.	CHAMPION BH87	\$ 68.95	\$75,80

- Award to be made <u>PER LINE ITEM</u>. Bidder should ONLY bid items they can supply.
- Bid shall include all associated fees, including those related to shipping.
- All products shall be shipped to Foley Stadium, 305 Chandler Street Worcester, MA 01602 and must be received no later than March 14, 2025.

School Specialty LLC

PRICING/SPECIFICATION PAGE - Athletic Equipment - Spring / WPS Bid #: 8358-J5

							_
Item #	Quantity	Unit	Description	Manufacturer/Model #	Unit Price	Total Price	
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved. item #1404008	Spalding/Thunder Heat Dudley (43147)	\$ <u>101.16</u>	\$ <u>1,517.40</u>	*Sold as Each \$8.43 Priced as Dz
2	30	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved. Item #006890	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro) WILSON SPORTING GO WTA1010BHS	\$_98.00 PODS	\$_2940.00	
3	10	ea.	Baseball/Softball Scorebooks for High School.		\$_No Bid	\$	
4	14	case	Tennis Balls. Optic Yellow. Item #006449	Wilson/Championship Extra Duty	\$ <u>138.48</u>	\$ <u>1938.72</u>	*sold as 3pk \$5.77 priced as case of 24
5	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.	Item #1571025	\$ 30.25	\$ <u>151.25</u>	
6	5	dz.	Men's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. White Ball.	Item #025368	\$_31.36	\$_156.80	
7	48	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000	\$_No Bid	\$	
8	4	ea.	4 Way Pitcher's Rubber. Used for High School Sports.		\$ No Bid	\$	
9	4	ea.	Major League Home Plate. Includes Anchor. Beveled hard white rubber plate.		\$ No Bid	\$	
				A CONTRACTOR OF THE PARTY OF TH			

Award to be made <u>PER LINE ITEM</u>. Bidder should ONLY bid items they can supply.

Bid shall include all associated fees, including those related to shipping.

All products shall be shipped to Foley Stadium, 305 Chandler Street Worcester, MA 01602 and must be received no later than March 14, 2025.

PRICING/SPECIFICATION PAGE - Athletic Equipment - Spring / WRS Inc Stadium System Inc Stadium System St. Church St.

The Worcester Public Schools is looking to purchase athletic equipment. The vendor shall provide pricing on the following products.

Canaan CT 060 B

				**		
ltem #	Quantity	<u>Unit</u>	Description	Manufacturer/Model#	<u>Unit Price</u>	Total Price
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Spalding/Thunder Heat Dudley (43147)	\$ 92/02	\$ <i>1,380</i>
.2	30	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball - (A1010Pro)	\$ 100,50 DZ	\$3015
3	10	ea.	Baseball/Softball Scorebooks for High School.	CHAMPRO AOT	\$ 4,25 EA	\$ 425-
4	14	case	Tennis Balls. Optic Yellow.	Wilson/Championship Extra Duty	\$ 79,50 CASE	<u>\$ 1113 -</u>
5	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.	CHAMPRO LBNGO	\$ 18.25 DZ	\$ 91.25
6	5	dz.	Men's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. White Ball.	CHAMPRO LBNW	\$ 18. 25 DZ	\$ 91.25
7	48 ~	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000	\$51,60 EA	\$ 2476.
8	4	ea.	4 Way Pitcher's Rubber. Used for High School Sports.	CHAMPRO BO43	\$58,50 EA	\$ <i>234</i> -
9	4	ea.	Major League Home Plate. Includes Anchor. Beveled hard white rubber plate.	CHAMPRO BOJOI	\$62.40 EA	\$ 249 b

0

Award to be made <u>PER LINE ITEM</u>. Bidder should ONLY bid items they can supply.

Bid shall include all associated fees, including those related to shipping.

All products shall be shipped to Foley Stadium, 305 Chandler Street Worcester, MA 01602 and must be received no later than March 14, 2025.

PRICING/SPECIFICATION PAGE – Athletic Equipment - Spring / WPS Bid #: 8358-J5

<u>Item</u> <u>#</u>	Quantity	<u>Unit</u>	Description	Manufacturer/Model #	<u>Unit Price</u>	<u>Total Price</u>
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Spalding/Thunder Heat Dudley (43147)	\$ 98.75	\$ <u>1,481.25</u>
2	30	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro) CCA1010BPRO	\$ <u>162.50</u>	\$ <u>4,875.00</u>
3	10	ea.	Baseball/Softball Scorebooks for High School.	Champion #SC1	\$ 5.50	\$_55.00
4	14	case	Tennis Balls. Optic Yellow.	Wilson/Championship Extra Duty	\$	\$
5	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.	Champion LBYNOCSAEBULK	\$_23.60	\$ <u>118.00</u>
6	5	dz.	Men's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. White Ball.	Champion LBWNOCSAEBULK	\$_23.60	\$_118.00
7	48	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000 1460977	\$ 88.25	\$ <u>4,236.00</u>
8	4	ea.	4 Way Pitcher's Rubber. Used for High School Sports.	Champion BH81	\$ 83.75	\$ 335.00
9	4	ea.	Major League Home Plate. Includes Anchor. Beveled hard white rubber plate.	Champion BH87	\$ 81.25	\$ 325.00

- Award to be made **PER LINE ITEM**. Bidder should **ONLY** bid items they can supply.
- Bid shall include all associated fees, including those related to shipping.
- All products shall be shipped to Foley Stadium, 305 Chandler Street Worcester, MA 01602 and must be received no later than March 14, 2025.